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< gy | umTs | pemam | mes | woags | PRUE | BUMH
1. %7; Efﬁ% 564,937 564,937 564,937 564,937 72.4 100.0
2. %igﬁ 153,282 153,282 170,627 166,643 19.6 97.7
3. MPEMLA 8,970 8,970 17,411 16,428 1.1 94.4
4. B AN & 20,000 20,000 0 0 2.6 0.0
5. M B & 1,000 32,697 32,698 32,698 4.2 100.0
6. # M A 431 431 440 307 0.1 69.8
w AN & Eh 748,620 780,317 786,113 781,013 100.0 99.4
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X 4| umTEe | T g | WOUE | X
1. #% = & 128 128 91 0.0 71.1
2. W B 113,976 145,673 140,671 18.7 96.6
3. 5 A& & 449,300 449,300 365,070 57.6 81.3
4. B # 182,216 182,216 182,215 23.3 100.0
5. T fw # 3,000 3,000 0 0.4 0.0
ot AR 748,620 780,317 688,047 100.0 88.2

(R L SCHIWE He = = PR BUER)




2. —EHEA@ORD

WRk234E3 A 31 HBERL
3. MG EBUE & DR
(Bpz: FH)
ES o) Bl gés = AR L IR I BLLE 5
1. :‘”mﬁﬁ@{g%‘%%% 79,042 131,010
2. HRNT ALy M i 351 7,907 15,735
3. Eégmﬁgﬁgﬁ$¥ 65,905 79,527
4. — fig B M F ¥ E 606,977 704,720
&) Bl 759,831 930,992
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1. W F o L % 15,502.00 1,750.00
2. IH K 1 i 1,836.67 0.00
3. — X BEE WM & KWL Y 14,599.00 0.00
4. — fix BE 3E W % Bl hi 5 O Hi 9,043.61 204.02
5.l A YU T LE — 21,904.05 2,673.90
& Bl 62,885.33 4,627.92
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valyd— 1 &
AR Z A4 (R) 597,700 ¢
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